2
X=riosé , v =Xyt

yarsiat, $=+an (Jx)

| Tk(rc-core)
L 2rdr. =2X =20p = (o5é
O X X

; 2r.é_z:,=27 %ﬁr. =Sint
o o
2t | - =0t =slat
o X “7%(‘ IX

gt = 1 1 oss Jf =cost
by WX Yy p

Gy ma?wnk%
.L:M‘l‘_é&i.: Cosé-0_ -Siuf g
OX X or X ¥ or r 26

-. ) = Cost-0 5108 2. (Cost?_-ﬁvﬁl_)
IX* or r dE)\  or r b

¢ . . 3
= 00590 ¢ Wstsat D = Cossinb ) 4508 D - st O
o vE M Y drer POy ordt

'f}_“:‘_t_‘ﬁ:ﬂ')-."'_m.ﬁ.é_
r= ot rt M

=64 b25iabrost 3 = Leostsiat ) Asatd 4 sine )
e b Foone ot e



We also have +hat (
2 =Jr 0 4060
by Y oy A
=yint9d +e050 0
or r %

@i:(slnﬁ_é, +‘§_g_§_0__-_3_)($in~9'_é_,1-m_a__)
a iy r o r o

= 50 ~Siutost ) +siatest 21050 3 +oostsint 20
I . A . L ) r orj¢

“2-0‘9‘4229’_&_ + ﬁb{l‘a‘ __é_,:__
r" a0 re ()9"

=5 n‘+_L -1 5iabtost D+ lwzfzﬁ;.é._ +Lo050d ¢ .CA&.L
- r~ ) rtoordd roar oyt 46

The re-ﬁore

W10 f.é..”_é_-!-_L.cJ.,+_L...d__.
Xyttt rar radt

Av=0, 0= Xt s
Ula,a_,z Sin"

CO!\W&I‘M)« +o fola" Coordinates
UN' t+ PUr‘l‘ re UH-'O
UCZ, =S¢
vlr 0)=uvlr, 11)
U‘O‘—('ﬂra) =y (r ) ]-"T)



Lettiny U= RIAMNBHE) we have that
R"H16) + VRO TR =0
-'_tf&”-l-,r; R’ = ~ -
R ==
BDUnd(my Condivions on & tmpl/' ,
& = g, cosinty) +L057A("9'3, A=h
& = gq, , A=0.
Thc differential egva‘l-Ton forr R 35 therchore
PR+ rR= R
Sr R rR-p" R =0

[_ﬁi& 1.('L‘-"£)f
R +rR=0
Let v=R’
=AY +rV=0
ar
Make a Zue,ss v=crP
= prP'errP=0
=> *P rPH e P =0
= p=-
-l
= v=cr
There{lm,
R=cy
=pP=cLlr)+d

To_enfoece boundeduness a+ r=0 we se+ C=0.



Case 2 (n#p),
r’R’+rR'=n'R=0

Make a l;.ucss
R=r
= rlp - NP e rprP iptr =g
= f(p~l)ry+p£”—n"r’°=0
= p-pap-n =0
= P:i’:n.
Conse vently,

Rir)= cr+dr"
TO enforce bowsdtfimn ot r=0 we ¢+ 450.
B)f l;a&ar Sujoar})oﬁiﬁon:
" Do
~ U(",ﬂ')"—': a, + fa,r ¢os (nt) 1;2 burs:n (ntr).
h=i =t
Ap'pl/.'a)/ bounday Londitims a+ r=2 we have
SO
Sin =)= Cos (28) = 0, + Z an 2 Coslnd) + Z_bn 2"sinlut?t),
2 -

Therefore, |
) ! .
Q,= /2.1 'jyc.-:-'/,,r-m,_:-ﬁl all o¥her cordficients are Zero.

= vlrn¢)=_1_ ~,_t_1'£ os(L4).
L 3

@,



Av=0, Nz 8l=x4,/ <4}

Ul #)=stn (30)
LIL#)=Cos (5¢).

We have + split inro two P"‘ohlems:

i pL

Auy=0 Av=0

YL =5 08) p,$)=0

- u24)=0 U(Z #)= Cos(5¢)
L Y,

" To okl boundeny
L Condikions.
ule, )= +0F )sin34)
Theretore,
atb =1
fat b, =0
§

To match bmmnlﬂy Cond i #ions:

Y= (ar’s by Veos L54)
TLC(‘CFM&I
O, = O
3204 by =
32
= 3240y =
32
>(a-1)(2/5)=|
=oF 3% .
1023
b, = RS
[oL$
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Upe s ¥ Up + 15 Upe-=0 L LL=G ) r=l, 00<T/4 )
Ul #=55.054)

ul(r 6)=0

olr,)=0

A)Sow»’ v=R & ,
= ~r R R = ef =-X
R S
Bou»dw, Lond: $ioms op A ;m)o/ir
St=1, 5. (Jx ¢)
SIT4)= by sia (WR )= 0
= J‘;\-l‘",, =un
't
===l
Solvia}, 'pbr R we have
¥R pe R +lhn'=0
Sivc as we d7d behre
R= a.r™.

waugvan‘lv) ,
Vle,B)= 2 Gnl Sia (tnt)

.BOO'\J’L&7 Co»d:‘&i.ms \lm (
00,85 5 88) = 2 Bnsie (nt)

"%%_'-'ll all ethers ave Zro.

= yle4)= r35..[56).



